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Note: You have four choices for each objective type question as A, B, C and D. The cholce -p{_ﬁd’}‘}a’wr
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. .
Q.No.1 A Ay
(1) The periodic installment to the paid by insured is called:- -.g.bidf S sLuP ()
(A) Bonus ¥ (B) Discount &3€-5  (C) Premium (2% (D) Mark up Ak
(2) Abill of exchange drawnona -t/ sa.u;gf:.;u:».f...atmﬁ;uu..-ﬁuiw‘_rtgw‘ba,/%ff"'u?wﬁ:? )
specified Banker and not expressed to be payable otherwise then on demand is called:-

(A) Cheque 2 (B) Pay order /3,7.  (C) Bill of exchange bl (D) Bank draft sk
(3) The tax charged from the owner of land, house, flat e tbf et ML et d S tirs Q)

or building is called:- y
(A) Property tax J*Cd{!{ (B) Incometax;fgfl (C) Direct tax Lfg:.:/bp'.( (D) Indirect tax (/=&

(4) One has to pay the excise duty at the rate of 15 % Sl AL 15% 40de 1 300000 (4)
against an amount of Rs.300000:-
(A) 450000 (B) 45000 (C) 4500 (D) 50000
(5) In 4%, 4is called:- U a4 g ()
(A) Base (V! (B) Exponent Ve s (C) Integer mé’ (D) Radical z&
6) as of 2,6,18 s eyedf as L 2618___ 6
(A) 160 (B) 161 (C) 162 (D) 30
(7) AMbetween 3 and 343 is- ‘-"Lk(iwd'?bﬁ 33 4 3 (7)
(A) 2V3 (8) V3 €) 93 (D) 43
8 U ={123}and 4= {1} then A€ =2 AC =9 4= {1} 4 U={1,2,3} S®
A {2,3} B) {12} © {13} (D) ¢
(9) Forx=1in 2x + y = 6 thenfind » =? y=2cd& x=1L2ax+y=6 (9
(A)—4 (B) 4 (C) 8 (D) -8
(10) Z(X; - X) = 0 is one of the properties of - _‘erl{..-.z.'GJ fXX;-X)=0 (10
(A) Arithmetic mean &-s}L> (B) Geometric mean Jwid ,# (C) Harmonic mean Lfsibfng, (D) Mode 5k
(11) Fraction form of 70 % is:- < S/l % (1)
7 10
(A) 70 (B) % (C) = D)7
(12) 30 % of 1500 is:- - 30% ¥ 1500 (12)
(A) 700 (B) 750 (C) 600 (D) 450
(13) Ifthere is one daughter and agnatic grand daughter, their Ko b s tg?xég_gui:i;a...,g»m(;'_‘-..gﬂ (13)
shares are respectively:-
11 11 11 11
(A) 57F (B) 33 (©) ey @) 53
(14) Ifthere is only a single daughter then her inherited property is:- .c‘-,il,ﬁcﬁbs?n@-guj/ﬁ (14)
1 3 1
(A1 (B) 3 (€) y @) 7
(15) The price at which a particular item is purchased is called:- S ey .uﬁﬁ»—ﬁﬁ (15)
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TIME ALLOWED: 2.10 Hours SUBJECTIVE _ELe Ha = S
MAXIMUM MARKS: 60 60 = /J
NOTE: - Write same question number -e.z-,ﬂw;_{,gfy,&é C'/JJ/’,%ZJ”/,}J’}’L,“J{QKL}Q oy

and its part number on answer book, as given in the question paper.
SECTION- .o

2. Attempt any six parts. 12=2x6 ‘ég fa@lzilzf%’a.éf -2/,}Jiy‘
() Define Inverse Proportion. -Zq.v /M}ﬁ@xtﬁ (i)
()  Express % as percentage. -4{;&&&{ % (i)
(i) Find the ratio of Rs.72 for 24 to rupees 4 each. é(}’uuw&u 4L fnd Leut2 i
(iv)  Define Zakat. ih.v /U/ O ()
(v)  Calculate Zakat on silver amounting to Rs.3,00,000/- 5 (:L'“ g /JU:’L. + 3,00,000 =/t J Jb lpf (v)
(i) Define Profit. L W
(vi) Findthe CP,when SP=RS2640,loss =12%. el =28400n b =12% £gpPuied (i)
(vii)  Define Discount. -&q.v /’J..,,‘” (i)
(ix)  Define ATM Card. L
3. Attempt any six parts. 12=2x6 é/ futlfﬁliii:.df 34y
()  Define Financial Lease. £ 0

(i)  Asales tax of 16 % is imposed on *’s‘}bff)’fmu 18000 chu;,d:f -;.mﬁf)“ 16 % /u»d’ (il
Television, if the marked price of T.V is Rs.18000. Find the amount of sales tax.

(ii)  Define Excise Duty. Eafllsd i
(iv)  Express P\/% in exponential form. -ufﬁu!ﬁ; el 7 i% (iv)
4 3 4 3
(V) Slmpllfy X y + ‘3-_]/‘; ):3y2 + x?y‘g -.éky (V)
(vi) Write 0.525x 1077 inthe decimal form. -u:’gufﬁ,(,;b‘-‘lf 0.525x 1077 (vi)
(vii)  Wite the first three terms of a, =3n+5 a,=3n+5 -d;‘ﬁrfxdtk:w,,i@ﬂ (vii)
(vi) Define Geometric Sequence (Progression). & J/’JM/" (vill)
(x)  Find the 5th term of GP. 4, 12, 36, ———- irM.u;sJ 4,-12,36,———- b/ ()
4. Attempt any six parts. 12=2x6 Epfenlimg e 4y
()  Define Universal Set Eaflentis )

S 4UB MB={24,6810}4 4={1,2,345} V()
M WA=91.2.3.4.5Yand B=12.4.6.8.10 }thenfind 4UB
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If 4={3,5,6 }and B={1,3 } thenfind B x 4 -é(PBxA?ﬁm{l,z»}»IA={3,5,6}/7 (i)

Define Cartesian Plane. Ealsrsk W)
Convert 220°F into °C Edap oc f20°F ()
Draw point 4 (2, 0) on graph. -_é}.}li{..iiﬁ( A(2,0)8 (v
Define Median. .iJ f@% (vii)
Forthe dataset, 6, 2, 4, 3, 4, 5, 4, 5. Find Mode. LK 6,2, 43, 4,5 4,5 wloy (i)
Find the range of the data 10, 18, 9, 6, 22 e 10,18,9.6. 2 ()

SECTION-Il ru.2

NOTE: - Attempt any three questions. ~ 24=8x3 -égfagmﬁaﬂwfc.@f 0y

5.(A)

ALl K5 SR 828 Sl ek gl (U5
A triangle has sides of lengths 3 cm, 4 cm and 6 cm.
Find the ratio of the lengths of the sides to one anather. .
iy (T 5000) J7 80 ity 400000 L 800000 iy ()
Calculate Zakat on gold of worth Rs.8,00,000 cash of amount Rs.«i,{J0,000 and silver of weight
50 tola (Rs.5000 per tola)

NS ST ST WX AP S I /(e B 1) 250000 cskfip Sl £ (-6
Aslam, Anwar and Akram earned a profit of Rs.250000 from a businesé if their investments in the
business are of ratio 4 : 7 : 14 respectively. Find the profit of each. .
i the simple profiton R 640for 12years -/ /ALl g 384 Db LUb 12 44 640 A )
is Rs.384. Find the rate of profit. |

bt ST L2 45% ey 3000 ,;ﬁma.iﬁ <&430,000 AR ANE)E
The total taxable income of a person is Rs.4,30,000. If he is given rebate Rs.3000 on the tax
chargeable then workout the amount he has to pay as an income tax @45%.
Solve 69.13 x 0.34 x 0.014 with the help of logarithm table. -.éJ’«:.qusgﬁf}f:‘f 69.13 x 0.34 x 0.014 (.,«)

Find the number of terms in an A.P. if a =3, d=4, a,=59 Ly lpndledgt gt ()-8

-u.‘f’ﬁlyluljtf;kﬂ XxY fnv={248}4 X={0,3,5}ﬁ (&)

fx={035%}and v={2 4 8} thenestablish any four binary relationsin X x ¥

Draw the graph of ¥ = x + 7 -uffl;.-dl)’ F y=x+7 (J).9
Jooe n o .~ ¥ A
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Note: You have four choices for each objective type question as A, B, C and D. The cholce g ety
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) %in terms of percentage is:- +¢&Jma % 1
(A) 3% B) 1% (C) 33% (D) 33%%

(2) Inaproportion g:h::c:d, "a" and "d" are called:- ?uggﬂ':l[f nd" . "a" u:__/s,ja:b 2 d (2
(A) Extremes o2} (B) Means ¢ (C) Antecedents ™5 (D) Consequents ¥

(3) If there is one daughter and agnatic grand-daughter, ..fyz,a?Kul;ﬁ:lg{g?ﬂdguggﬂﬁxc.h‘,/y;:ing.ﬁﬁ (3)

their share are respectively:-
11 11 11 11

® 503 ® 53 € 5 ©37%

(4) Zakatis deducted at a rate of - e LSBT @
(A) 5.5 % (B) 3.5 % (C) 4.5 % (D) 2.5 %

(5) Loss is there when:- e (6)
(A) SP =3sjed =CP piad (B)SP et < CP xicd
C)SP ciped =MP wdtayes  (D)SPabjed >CP 4hd

(6) The periodic instalment to be paid by insured is called:- g fSweslud ©
(A) Bonus (B) Discount &4€3  (C)Premium (5, (D) Makupft

(7) The amount which is paid by the bank on the deposit is called:- g ety f,z,%{(;é’dl/ g
(A) Profit {1 (B) Bonus /% (C) Premium (& (D) Markup_ ISk

(8) Taxes of the form of dyties, motor vehicle taxes are called:- -g}?: S AES ) iy 2l (8)

(A) Indirect tax U=b-¥{ (B) Direct tax J*erinlz (C) Property tax (*U¢ly (D) Income tax J°¢!
~ (9) The tax charged on the taxable income is called:- et __uq_tkyw{(}ﬂ -Js(b?zl/-éu 9)
(A) Sales tax *X  (B) Indirect tax <b-194  (C) Income tax J‘ﬁ (D) Excise tax (£37LL1
(10) JV2 =2 i i Jz =2 (10)

(A) 22 (®) 2 () 22 ()24
(1) ag of 3,7, 11, is:- ey g 37 M___ (M
(A) 3 (B) 19 (C) 23 (D) 20
(12) GMbetween 1 and 8 is:- *:{_m.,,q;wz g1 (12)
(A) 242 B) +242 () 242 (D) V2
(13) If 4 and B are two non-empty sets then AUB="? AUB=? Junerdodn B # A S (13
(A ¢ (8) BUA4 (C) ANB (D) BN4
(14) The co-ordinate of origion are:- eplafehsl b (14)
A) (1. 1) (B) (0, 1) (C) (0, 0) (D) (1, 0)
(15) *w = 2;:: is called:- -4.nl{ Xy :%% (15)

o Yer MY Canmetric mean bald # (D) Mean bl
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NOTE: - Write same question number -c"...Zw.suf;:..{,)b’,G?:c’;: 6;:/1732;51/-,2&,‘/@44 Kq!f. oy

and its part number on answer book, as given in the question paper.

SECTION- (.2

2. Attempt any six parts. 12=2x6 ey },gmétza,;;,df 24 )y
()  Express following percentage as fraction in their lowest form:- (7 dﬁ;}bﬁfw /ﬁéditw (i)

@9%% (b)75%
AL LIt et F 20 Sl et i TO SO
(i)  Astudent spend Rs.70 every day but on Sunday he spend Rs.20 only. Find the ratio of number of rupees
spent on Sunday fo every day.

(i) Inwhat ratio 60 m? be decreased to 24 m2? e ke ikt e i
(iv)  Calculate Zakat on gold amounting to Rs.11,10,000. -pr’”‘s}ﬁ{w?m,» 11,10,000 o{tJé.{fi (iv)

£

(v)  Apersonleta b oL Sns AL 518y 30,0000 s YA
property of Rs.30,00,000. Calculate the share of his wife in property, ifpe had not any child.

(vi)  Find S.P when CP = Rs.950, Profit=10% 10%=0 &v 950= sled by fpPesied ()
(vi) Find C.Pwnen S.P. = Rs.672, Profit=5% 5% & &u 672 = ehjed by pPuied (i
(viii)  Find the selling price when M.P = Rs.728, 6% = oA & 728 = edwbtnk ] Spressped (i)
discount = 6 %
(X)  Whatis meant by Inheritance?  Seple Sl ()
3. Attempt any six parts. 12=2x6 Efnlimg e 34y
()  How many kinds are of Insurance? Wfite their names. -u.?”/rtéuf ?qrrlifo;( J r (i)
(i)  Define Indirect Tax. ‘ SIS (i)

i) AcomputerpriceisRs34800- - /pied Ml -_.LJL%’?}: 16 % UL e &y 34800 24 Sl i
inclusive of 16 % sales tax. What is the original price of the computer?

(v)  Simplfy. v3 x +7 BT Ny
() Write 000000075 in Scientiic Notation. b oonoors
(vi)  Wite the base and exponent of 18x> Mg 185 (V)
(vii) FindAM between 7 and 37 L T AT (i)
(i) Write the irst three terms of @, = (~1)"#’ il an = il
()  Findthe GM. between 2x?and 8y* A Al syt s 2 ()
4. Attempt any six parts. 12=2x6 -égfauﬁiizféadf yls

..érP(AnB)ﬂC W C=1{3457} #B={4,6289 }ea=1{1,4,7,8} A (i)
() KfA={1,4,7,8}, B={4,689}andC={3457 }thenfind (ANBNC

z
_ e s m® o e A Y A AeSa gL i



NOTE: - Attempt any three questions.

5,(A)

(B)

If ¢= {1, 2 }then write the number of
binary relations in ¢ x C

-
e

-uf’glﬁ@!udb‘uf CxC mc={12 }fl (iil)

Define Ordered Pair Eafleinsy W)
Represent the point B ( 3,2) on the graph. -g;f,qLﬁ/?.jIﬁ B(3.2) 5 (V)
Convert 95°Fto C° (celsius). .édiuﬁ (éf&i‘) cof 95°F (i)
Find Median 3, 5, 6, 8, 8, 9, 10 L& 63,5,6,8,8,9, 10 0 (vi)
Define Cumulative Frequency. S FISTALANC )
Find the range for set of data. 6, 8, 10, 14, 13, 12 Ly

SECTIONAI (.2

The price of 80 shifs is Rs.22000. e dfurd 0 Lingy 2000230 B0
What would be the price of 30 such shirts?

-"éi’!b'.ﬂ’K@uﬁﬁ?{)ﬂdﬂ{d&;ﬁé’%ﬁ.ﬂﬁ e 330000 At Eas,/;,e.’»ggzﬁg
The amount of a property left by deceased persun s to be distributed among his daughters is
Rs.3,30,000. If he had left three daughters only, what would be the share of each daughter.

Distribute Rs 200,000 s a proft 13:2:5 e LUl oSS T B 200000 LU
in a business regarding three persons, if their shares are in the ratio3:2: 9.
Find the compound profit on Rs. 54000 for P L e 12% &L JvSlye 54000

one year at the rate of 12 % per annum.

-ép"” u)"?{-'bvﬁ'c.{, ;d/ 45% {L}J"J’J"'” L 3,10,000 »F%.» 2,50,000 o ﬂL.}ATUgJUJJw,{JT»
The total taxable income of two persons is Rs.2,50,000 and 3,10,000 respectively.
Workout the income tax for each of them @ 4.5 %.

Sove 67 394 yith the helpofogartm able. Sl 0 2O
Insert three geometric means between 486 and 6 _ufgj,,,d. ﬁcfw & 6 sl 486

-& 3»}%3’& R ¥ R={(a,b):a.bew, 3a+2b=16} /|
lf R={(a b):a bew 3a+2b=16 } thenfind domain and range of R

Draw the graph of y = 3x _Lft-,..jlf f y=3x

Find the standard deviation for the values ISl £1,2,3,4,6,8, 11
1279724 ARA8 M1

u=8xd L fnletnfe o

(J)-5

)

(J).6

®)

(-7

(&)

()-8
(&)

(-9
(L)



